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(b) The time-acceleration graph of a body

moving with uniform acceleration is a
B.Tech 2nd Semester Exam., 2016 straight line

) passing through the origin

i) inclined to the time axis

(tii} parallel to acceleration axis
fiv). parallel to time axis
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Instructions : {c} The equation of a projectile is
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fe) The apparent weight of a man in a lift is {h) A zero angle of friction implies that

less than the real weight, when the lift is {ij frictional force is infinite

going down o) frictional force is zero

(i) freely (i} frictional force acts normal to the
plane

(i) under the force of gravity (iv) frictional force acts along the

direction of motion

(i) with some constant velocity
{ii Two forces of equal magnitude P act at

fiv) with some acceleration an angle 6 to each other. Their resultant
is equal to the force P. The angle 8 is
' .., equal to
{7 For perfectly elastic bodies, the value of - q e
coefficient of restitution is iy 0%
1 o (i) 600
(i) 05 to 1 "
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[ ¢ al m*.fwn” nt of inertia of an area is

i) 0
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(b} A boat is pulieq along the river by

two ropes with pulis P and Q inclined at

?0“ 'and 40 to the x-axis as shown
In Fig. 1 below -

Fig. 1
. . " () Find Pand @, if their resultant R is

1000 N.

@) 1f the ,;;ul(ll t}; is inclined at 30° to
X-axis, find thd minithum value of
if R=1000 N | ¢
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that doyou mean by the term ‘wrench

i tem of forces and couple
low by a single-
Me moment of

- the diagonal
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What are Coulomb’s laws of friction,

angle of friction and angle of repose? 6

Determine the effort required to tip the

box as shown in Fig. 3 below about A.

Also find the minimum coefficient of

friction if the box tips before it slides : 8
Effort = P
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) The gce - . .
CXpressede}er ation of g particle is {b) Two biocks A and B, each of 1 kg mass
Starts @S @=10-x. The particle and resting on a rough 'mclinei plane
S With ng initial velocity at the are released from the position as\shown
Position x = Determine (1) the velocity in Fig. 6 below. The static friction

of the particle when x=8m, (i) the between block A and surface of incline

is 0-12, and that between block B

Ositio .
felOCit;is y _the Pal'tlclem where _.t-he and surface of incline is 0-3. Make
of the igva_l.n_z_el:?_@d (1] the velocity calculations for the time at which
€ Pparticle when acceleration impact would occur and the velocity of
becomes zero, 3 blocks immediately after impact. Take

coefficient of restitution equal to 0-75 :
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wbe 14 shown.in Fig. 7 below :
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